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Answer1

o Two YoinTs
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A is the point (-1, 2) J —Ct
B is the point (7, 5) - g
(a) Find the coordinates of the midpoint of AB. N{DPQ\M’( (—! +7 ) K 'Fg.)
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Answer 2

AR 15 a hine segment.

A is the point with coordinates (3, &, T
The midpoint of A8 has coondinates (-2, 2, 5).

Find the coordinates of 4.
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Answer3
The point 4 has coordinates (2, 3). Vl/{ | — 7 -
The point B has coordinates (6, 8). DFOINT LQ’ (b€
M is the midpoint of the line AB. ) Avee A E Point '
Find the coordinates of M.
Ya
Diagram NOT
accurately drawn
B(6, 8)
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A(2,3)
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Answer4

P is the point (-4, 4)
Q is the point (1, -5)

(b) Find the gradient of PQ.

G ,@g,;) s Ao = <
[ T =
RENT = ~Zon
il = M?f LQI B :;_%-
3, -,
Answer5
ya Diagram NOT

accurately drawn

P(5,7)

S
=V

Point P has coordinates (5, 7).
Point M has coordinates (1, 2.5).

Point M is the midpoint of the line PQ.

Find the coordinates of point Q.
Q- 2 = 1-% = -3

U= S-S = -2

G(-3 -2
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Answer 6

(b) Write down the coordinates of the point Q.

270 o )
(o )
Answer7
The diagram shows part of a sketch of the curve y = sin x°.
Ya
’ e
0]
1&D &
-] -
Q
(a) Write down the coordinates of the point P.
| §O o

Answer 8

(b) On the same diagram, draw a sketch of the graph of y = —cos x°

QE\CLEC‘UGM [N >c - Axis
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Answer9

The diagram shows a sketch of the graph of y = cos x°

YA

(a) Write down the coordinates of the point A.
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Answer10

Brogan needs to draw the graph of y = x> + 1

Here is her graph.

y=x+1

=V

-5 -4 3 2 -1 0 1 2 3 4 5

Write down one thing that is wrong with Brogan’s graph.

Svtsun Be A Sweoar Covevs
Arrv  Noo Crnaidmr Lines
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Answer1l

Sketch the graph of y =cos x° for 0 < x < 360

VA

=V

Answer12
. Could UsS€E TARLE
(a) Complete the table of values for y = . [:UM TN OW CA‘LC ,
X 0.5 1 2 3 . > ¢
) 7 ¢ 3 72 15 | \-2 1
6 6 -
%S % <
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Answer13

(c) Use your graph to find estimates of the solutions to the equation x> —x —6 =-2

Dﬁm\) u\\:*l

>5C= -6 on D=6

—
Answer 14
(a) Complete the table of values for y =x?—-x -6
0 -3 -2 —1 0 1 2 3

y 6_(’.’)*4—6-é‘"4’—o
Use Thakie $Functiond On CArcuiazor
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Answer15

(b) On the grid, draw the graph of y =x? —x— 6 for values of x from -3 to 3
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